1.

RETAN X#E HE XWEE o1

ROFBEEZE X, (SH2TF, A4, B#k14y, C#14730% )

(1) 310g3 6 (2) 210g2 % X ?)log'3 24
(3)  glom5 5810
(4) 910g3 2

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROEZEEX. (SH40F, Afs55F, Bf13208, C#2)

(1) 5log5 10 (2) 3log3 ﬁ % 210g2 24
(3)  4lom 11 25812
(4) 810g2 6
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RETAN W HE HEE 01 HEEHEH
ROFBEEZE X, (SH2TF, A4, B#k14y, C#14730% )
* XEEE (K% 1 TREBWIEDER LT 3082w T)
M>0lzxfLT,
alosa M = \f (MHADORNE A L ULHFHTE 3. )

FEAONEZ LS (KiZa) &, log,a*M =log, M x log, a =log, M x 1 =1log, M

(1) 310g;3 6 (2) 210g2 % X 310g3 24

t=3l8s6 Lg< :%xm
MADNEZ £ 5. (JEIE3)
log, t = logs 310836 =3
< logst =log; 6 x logs 3
< logszt =log;6
< t=6
6
FBUF, alos M = M AR E LTS,
log, 5 plogs 16
(3)  8los W 2o
_ (23)10g2 5 . 16
- 32logs 2
— 2310g2 5 _ 16
- 3log3 2?2
— 9log, 5° 16
- 3logg 4

=125
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2. ROEZEEX. (SH40F, Afs55F, Bf13208, C#2)

(1) plogs 10 (2) 3logs 16 % 9logs 24
t=5lgs10 Ly ¢ :%xm
WADNE % & 5. (JKIEZ5)

log t = logs 5'°85 10 = %
<  logst =logs 10 x logs 5
<  logst =logs 10
< t=10
10
WBUF, %M =M #RRELTHVS.
(3) 410g2 1 2510g5 12
(4) 810g2 6
— (22)log2 1 52logs 12
= 2310g26
= 22 logy 11 510g5 122
B 210g2 6°
2
= 2lez 11 _12x12
6 xX6x6
=121 2
-3
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